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o OPTION-A
N | Macroec'ono‘mics )
Pa'per : COM- HG 2016

. I AnSWer the followmg Questlons as d1rected
' ' 1x10=10

' (a) What is comparatlve statlc economic
L analy31s ?

..EFFWTW$1%§‘Nﬁﬁfﬁﬁﬁiﬁﬁqﬁ$9

' (b) ADefine effective demand.

Ay vifdmR Ak fa |
(c) ~Wﬁat is meant by aggfegate 'éupply ?
A @A I ﬁs IS ¢

(d)~ Name the author of the book, The

General Theory of Employment Interest
and Money

The General Theory of Employment.

Interest and Money 933455 (TGS I
frar -
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S

(e)

(9)

H

o

0)

What is the shape of long-run aggregate

supply curve ?

WW@WWWW
‘Q'ﬂ?

What does a vertical IS curve ‘mean ?

GOl ToR IS (R 5 3=w ¢

State the condition of equilibrium in
the goods market..

TR TEIE SIPIOR 59 S |

What is the most common method of
measuring inflation ? '

TArPIRS Cone DR M AR 2

The value of money and the price level

. are related inversely/directly.

(Choose the correct answer) -

‘ WWWWWW@W/

G | - (o% Tewh AR Saear)

What is meant by marglnal propens1ty
to consume ?

2 Cotot sl I s gem 2
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2. Answer the following Questlons 2x5=10 Answe‘t any four of the fellowing' questions :’
Tﬁmm%@ﬁm 5x4=20
- wTe il emsga ﬁzasrzar 513517 Tes fiml 3
(a) V\lfhy does the aggregate demand curve. - (@) Explaln the nat1onal income identity
_slope downward ? ' using circular flow of income in-a three-
,W sﬁm e g ﬁ'ﬂgﬁ 5.9 -sector economy. . o
- (b) . State two 11m1tat10ns of the IS- LM : "
"~ model ﬁa@avmwﬁﬁquW| |
IS- LM W@T WW w1 (b)) How is the LM curve affected by the
' change in the supply of money?
(©) What is social cost of inﬂation ? Explain with a diagram.
| -memm TR AR ARAER aRI LM e e
- geie = ¢ foa e P FA1
(d) Dlstmgmsh between fixed exchange rate : - : |
 and flexible exchange rate. - () What is marginal efﬁciency ‘of capital ?
: State the determinants of marginal
- = R 'iﬁ A0S Wﬁ’i ﬁﬁw EES IR ) efficiency of capital.
-.'Wﬁﬁfjm‘{\ean @mmme?www
L g Tifrrelr Rdieomg Ty = |
() Distinguish between induced investment | '
o and autonomous investment. _ (d) Explain the trade-off between inflation
| d unemployment
Wﬁﬁmﬁmm\mﬁﬁm -
) o] e AL
i | FAFIS W1 e e WWW
Sl '
Sem-2/CBCS) Hg | ~ | . B
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- (e

. "Answer tho following questions:
(a) Discuss . the
' equilibrium rate of interest and level of '

~ income with the help of IS-LM curve
~ analysis. |

Explaln the cost push theory of
- inflation.

"%*WWEW%—WWW|

. Bneﬂy eXplaln the arguments in favour

of flexible exchange rate system

. WWWW?{WWW
. WWI - 5'51335

determlnatlon of

IS-LM mﬁmaﬁwwmm

10%4=40

(b)

o T e R TS o

1% QI (FCEME e © 2, IS LM @‘Qlﬂ%@_ﬂ'
AYTS SCAIG =

Explain " the nature of demand- pull‘ :

1nﬂatlon What measures would you

' 'suggest to control such inflation ?

5+5 10
mﬁmﬁ— S RII L zﬁyﬁ P T @
Wﬁﬂwm-ﬁﬁswwm ?

Or/ 944t
Disouss the effects of inflation on -

production and distribution .5+5=10

TErEifes Sestmm o Rrowed @os oAl
mwmwﬁamwmmw| SRR ST :
| Or/we/ar D

Discuss how income and the 1nterest - (d Brplain MundehllfFlenl_lng model with

~ rate are affected by an increase in flexible exchange rates. .
government spending and an increase Nﬂﬁlﬂ ﬁﬁ“w TS Wﬁ—@ﬁ\ﬁﬁﬁm

in taxes, usmg the IS-LM curve model. =
5+5=10 .
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L o ' OPTION-B
. Or/ 9231 ' ‘

( Insu'rancev dizd_ Risk: Management )

_ "DISCUSS the derivation of the IS Cur: | : . : Paper : COM-HG-2026 _
| o o . from -the goods market in am ope? . 1. Choose the most appropriate answer for the
| '~ economy with suitable diagrat- S Tollowing questions : - 1x10=10

| f’i@wﬁ%mz@rlsmﬁﬁﬁ@m“c o _—ﬂ—ﬁmﬁmm%ﬂzl@%wmfﬁ%ﬁ\ew
fj ;‘. : '-W‘YW?&WQWWW| : (a) Whlch of the following is not-an
I R @) What; is = ot funct‘on? : objective of loss control ?
N _ meant ymves € the . . e @R T T2
I DlSCuSS the factors which 28 62510 o ™ ﬁﬂ?ﬁ =
Sl . level of investment. 2+ ‘ () Loss prevention
,\ . B - - B B ?ﬁﬁme:a . o Oy
T o YeR cﬁcangn S ZAl ‘ (i) Loss reduction
IR Wwﬂ .
‘1'. | oy - S R |
3 F Explain K of derm and 4 (iii) Loss retention
' €ynesian theory or 0 :
: ; for money, Write how it is Supcrl S AU
| the. tradltlonal quantity theofy’ ol (iv) ..None of the above
C'%W‘i SRR R iR 6@131 W@% (b) Which of the following is an example of
lii Q 8 . . .

KIS ;IEFI o RIaua! systematic risk ?
RRcracTadd
T RN K- S T 2
(i) Inflationary risk

R I s W
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4 (Sem-2/

(i) I'ﬁtérést- rate risk
(i) Foreign exchange risk
Zamf% ﬁﬁm wRos
. (w) All of the above
R wﬁ;ﬁ@-‘@t

(c) Total number of Wholetlrne dlrectors in
IRDAI is. :

IRDAI © ﬁ@t@awm S
() 4 (s =) .
(i) 5 (¢ @)
(i) .7 (2 o)
(iv) 10 (30 TW)
(d) IRDAI was established in the year
~ IRDAI @»‘hmmﬂwm‘%{? ' |
) 1995 (5eve 5TS)
(i) 1999 (S3dd BTE) -
(iii) 2000 (2000 5)
(iv) 2001 (2005 5¥®)

cBCS) HG 12 MAE/RY/G 10

‘(e) Which" of the following entities are

regulated by IRDAI?

RRE @HER &‘F‘%ﬂ IRDAI 3 3Rl fRafEe

o 9

(i) General insurance companies.
et T =R |

(i) Re-insurance companies -

(iii) Insurance intermediaries -

TGO

" (iy) All of the above

\Goiq BRI

Accepting. two or more insurance in
respect of the same subject matter and
from the same insurer is called

a@ﬁmwﬁawamﬁﬁﬁwmﬁ"
@mwﬁw%mmﬁmwﬁsiﬁm_

Cw e

(i) re-irisurance
(i) double insurance

[
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(iti) Co-insurance
T3

(i) None of the above’
89T te T

"(g)‘ The -main function of actuary is

i . ' management of risk and uncertamly
L ‘ .+ The statement is

IS W% S5O ~{REFI IO
2R 6 | !

) True (%)
(i) False (Wt?ﬁ)

>f o (W “Life insurance contract is a contract
. -+ of indemnity.” The statement is

l .' o A‘ G o aRy S 27w b 7 A
‘ (i) True.(@%)"
(i) False (S19%)

uberrimae fidei.” The statement is
“SfRT Bt GRS TR §Rs 1 Aol
() True (%)

(i) ~ False (T1um)

!
i
|
!
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(i) “Fire insurance is a contract of

0)

“Hull msurance is the main subject

matter of life insurance contract ”? The - -

statement is -

@%mﬁaﬂﬁﬂﬁqﬂﬁw zrmﬁ?i

i) True (¥)
(ii) False (W‘@‘z'ﬁ)

Give brief answer to the followmg questlons

2><5'10
T
(a) .Explain the concept of r1sk
- oHIT QRO IR T |
(b) State any two diffex:encs.ts between fire
insurance and marine insurance,
SRR W (TR Jers 4 ﬁzasrzar 7
i<y T | -
(c) State two objectives of re-insurance.’
oI b e i |
(d) What is meant by insurable interest?
Sl w1 e o g 2
(e) State two advantages of inSu;ance,
S 7 R TER
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3. Answer any four questions from the
following in about 150 words each :
5x4=20

O fACICE BIf<5) 2 Ao
e LA .Aﬁmmoﬁﬁﬁ%

(@) Explain the concepts of systematic and

unsystematic risk with suitable
_ examples. '

TS TR Adieas o Selede
AR I SoRCER |

(b) $tate the differences between cO-
Insurance and re-insurance. |

. TRA ST S A Bl
(C) Write a Sho
rt not -s
b e € on insurance

-G Gt @51 5 (i fovet |

(d) Explain the ;
: ma .
Imsurance. lin features of lif€

S A 20 CaRETarE gl < |
(e)
of motor vehicle insurance policies.

Rien oo s i
WWWW| S-S oiferfooyes A

5 Sem-2CBC HG 12 AR/ MG 14

Write a detailed note on different types
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() What are the conditions of indemnity
under a contract of insurance ? Explain.

, <51 g SR FHOoR SRR T

4. Answer any four of the following questions

in about 600 words each : 10x4=40
S erTea el bifo! e SAfSTHICE Yoo
W *or foee Tl ol 8

(a) What is meant by risk management?
Elaborately discuss the risk
management process. 2+8=10

FloxisPd ﬂﬁmﬂmqﬁm%m?w@ﬁw
SifsiERa aifeiiol TR SeEal F4 |

(b) Explain in detail the essentials of a valid

insurance contract.

taaf%mgﬁrﬁwﬁﬂwmwﬁaﬁﬂﬁ
4 | _

(c) What are different types of insurance ?
Write a detailed note on (i) fire and
(i) marine insurance. 4+(3+3)=10
ﬁﬁﬁw@%mﬁﬁs? (i) S [, o
(i1 e eve @l [Fge G
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(d) Discuss the regulatory framework of
‘insurance sector in India.

'ER@&“’- Wﬁﬂ@%mﬁﬁrw\wwf

(e) Explam the 1mpact of globahsatlon on
' Indian insurance ‘sector. ‘

SREe TST @s mmiﬁmma goiy
R A

() Discuss the steps taken by IRDAI for
I protectlng the interest of policy holders.
: 10

%WW‘SNWWIRDAIN' - 1Y
9 /9 W"lﬂ‘{{w S I .
(g9 What is meant by measurement of

risk ? Explam in detail about different
methods used for measurement of risk.

2+8=10

R oI IR s e 2 TR
TR e RS Rifow TSR ST
=,

A(h) Discuss the importance of msurance
in our day-to-day life.

_WWWW@@QWWI
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